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ERRE HTWE HAOE SBEET  CyNRx F—IN—AvK*2 OH TEh
(m/min) AxB W XXY P (FER:S/INE) BE (kW)
R-6-2S45 45 2.1
1590%1780 1250 3150
R-6-2S60 60 (3000) 2.8
6.A/450kg 1050%1150 800
R-6-2590 90 3350 4.2
1600%1780 1250
R-6-25105 105 (3000) 49
R-9-2S45 45 2.8
1590x1980 1250 3150
R-9-2S60 60 (3000) 37
SEY\ 9A/600kg 1050%1520 800
R-9-2S90 90 3350 5.6
1600x1980 1250
R-9-2S105 105 (3000) 6.5
R-13-2S45 45 4.2
1680x2430 1250 3150
R-13-2S60 60 (3000) 5.6
13A/850kg 10502000 800
R-13-2S90 90 3350 8.3
1680%2430 1250
R-13-2S105 105 (3000) 9.7
R-9-2S45 45 2.8
1590%2430 1250 3150
SEUNE R-9-2560 60 (3000) 37
. 9.A/600kg 1050%1520 800
(N5>713%) | R9-25%0 90 3350 56
1600x2430 1250
R-9-2S105 105 (3000) 6.5
R-6-2545 45 3150 2.1
1590x1710 1250
R-6-2S60 60 (3000) 28
6.A/450kg 1050%1150 800
R-6-25%0 90 3350 42
1600X1710 1250
R-6-25105 105 (3000) 49
R-9-2S45 45 3150 2.8
1590%1900 1250
R-9-2Se0 60 (3000) 37
LB\ 9.A/600kg 1050%1520 800
R-9-2S90 90 3350 5.6
1600x1900 1250
R-9-25105 105 (3000) 6.5
Ris2se © 1680x2350 | 1250 3150 2
R-13-2S60 60 (3000) 5.6
13A/850kg 10502000 800
R-13-2S90 90 3350 8.3
1680x2350 1250
R-13-2S105 105 (3000) 9.7
Ro25es © 1590x2350 | 1250 2150 28
LB\ R-9-2Se0 60 (3000) 3.7
= - 9A/600kg 1050x1520 800
(NS>214%) | R-9-2500 20 3350 5.6
1600%2350 1250
R-9-2S105 105 (3000) 6.5
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